mean # PX

L hits vs eta

..............................................................

1.

-

=

0.95

Ht:

@ 5

-

QR +.+++ '
: Dok

-3

R T 2

| mean # PXL Layers with measurement vs eta

4

3.5

3

2.5

2

15

1_

0.5

.....................................................................

FRVA)

IIII’;IIII

0.95

—=— DQM_DisplacedSUSY__mkFit_

mean # ST

RIP hits v

—— DQM_DisplacedSUSY__mkFit_BDT_

14

12

10

1

1.1

..........................................

JUSR : :
: : a®
........... 200900 000,00% 0000000t .

0 1

O - N W M U1 O N 0 ©

1 I-‘ 1 1 i 11 11 11 11 1 11 1
= : : S
SR : :
N I : ‘e
1AFe A i S e
- «»,.’ : . ’,,ﬁ
§| IER EPEEm 29990 t0ng0eTate0nneett?
-3 -2 -1 0 1 2 3




	Contents
	Page 1


